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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1. What do you mean by Share?

2. Explain the meaning of Capital redemption reserve.

3. Write a short note on acquisition of business.

4. What is a Capital reduction?

5. Mohan Ltd purchased assets of  `8,00,000 from Arun Ltd. It issued equity shares of 
` 100 each fully paid up in satisfaction of their claim. Make journal entries to record these transactions.

6. X Ltd issued 1,20,000 Preference shares of ` 10 each. The whole issue was underwritten by Ravi. Applications for 1,00,000 shares were received in all. Determine the net liability of Ravi.

7. From the following information give journal entry to record the transfer of an amount equal to the nominal value of shares redeemed. General reserve ` 9,00,000 and Profit and loss `21,00,000.

8. Titan Ltd issued 1,000 8% debentures of `100 each. Give appropriate journal entry if the debentures were issued at discount of 5%, repayable at Par.

9. From the following details determine the net profit for managerial remuneration. 

Net profit. `40,00,000 Provision for tax `2,00,000 and Capital profit on Sale of asset `15,000.

10. The provision for tax at the end of 31.3.14 stood at Rs. 3,00,000. During 2014-15, the tax liabilities up to 31.3.14 were settled for `2,74,000. Provision required in respect of 2014-15 is `82,000. How will you show provision for tax in profit & loss A/c.

11. Ramesh, a small scale industrialist decided to convert his firm in to a limited company with effect from 1st April 2014. But he obtained the certificate of incorporation on 1st August 2014 and the certificate of commencement of business on 1st October 2014. His accounts are closed on 31st December 2014. Find out the Time ratio for the purpose of ascertaining pre incorporation profit.

12. Calculate the amount of Goodwill on the basis of three years purchase of the last five years average profits. The profits for the last five years are:

	
	                 `

	I year
	4,800

	II year
	7,200

	III year


	10,000

	VI year
	3,000

	V year
	5,000


SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Explain the different methods of redemption of debentures.

14. What are the bases in which we apportion various expenses between Pre and Post incorporation periods?

15. Mohan Ltd issued `1,50,000 equity shares. The whole of the issue was underwritten as follows:

X- 50%, Y- 25%, Z- 25%

Applications for the `1,20,000 shares were received in all, out of which applications for 30,000 shares had the stamp of X, those for Rs.15,000 shares that of Y and those for 30,000 shares that of Z. The remaining applications for 45,000 shares did not bear any stamp. Determine the liability of the underwriters.

16. Mani Ltd which had 50,00,000 10% debentures outstanding, made the following purchases in the open market for immediate cancellation:

1.4. 2013 1,000 debentures of ` 100 each at `99

1.9. 2013 2,000 debentures of ` 100 each at ` 97.

[image: image1]You are required to give the journal entry for purchase and cancellation of debentures if the purchase rates are Ex- interest.

17. From the following particulars, determine the maximum remuneration available to a full time director of a manufacturing company. The profit and loss account of the company showed a net profit of ` 80,00,000 after taking into account the following items:

(a) Depreciation (including special depreciation of ` 80,000)            2,00,000

(b) Provision for income tax 




                       4,00,000

(c) Donation to political parties



                                1,00,000

(d) Ex-gratia payment to a worker




                 20,000

(e) Capital profit on sale of assets




                 30,000  

18. Mahesh Ltd was registered on 1-7- 2013 to acquire the running business of Suresh & co., with effect from 1-1- 2013. The following was the profit and loss account of the company on            31-12- 2013.

	Particulars                                `
	        Particulars                                    `


To office expenses
           54,000
        By Gross profit B/d                    2, 25,000

To formation expenses          10,000

To stationery

             5,000

To selling expenses
           60,000

To directors fees
                    20,000

To Net profit

           76,000                            
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                                           2, 25,000                                                           2, 25, 000

You are required to prepare a statement showing profit earned by the company in the pre and post incorporation periods. The total sales for the year took place in the ratio of 1: 2 before and after incorporation respectively.
19. A firm earned net profits during the last three years as follows:

I Year 

36,000

II Year 
         40,000

III Year  
         44,000

The capital investment of the firm is ` 1, 00,000.

A fair rate of return on the capital, having regard to the risk involved is 10%.

Calculate the value of goodwill on the basis of 3 years purchase of super profit.
SECTION C — (2  × 1 5  = 30 marks)
Answer any TWO questions
20. A Ltd. invited applications for 10,000 shares of Rs. 100 each at a discount of 5% payable as follows:

On application           ` 25

On allotment              ` 34

On first & final call   ` 36

Applications were received for 9,000 shares and all of these were accepted. All moneys due were received except the first and final call on 100 shares which were forfeited. Of the forfeited shares, 50 shares were re issued at the rate of  ` 90 as fully paid. Show necessary journal entries in the books of the company.

21. The company has 10,000 9% redeemable preference shares of `100 each fully paid. The company decides to redeem the shares on 31st December 2014 at a premium of 10%. The company makes the following issues:

(i) 6,000 equity shares of ` 100 each at a premium of 10%

(ii) 4,000 8% Debentures of ` 100 each. 
The issue was fully subscribed and allotments were made. The redemption was duly carried out. The company has sufficient profit. You are required to give the necessary journal entries.

22. Sachin co Ltd was formed on 1.4.2013 with an authorized capital of ` 6, 00,000 in shares of 
` 10 each of these 52,000 shares had been issued and subscribed but there were calls in arrears on 100 shares. From the following trial balance as on March 31, 2014. Prepare Trading and Profit and loss account and Balance sheet.
	
	        `
	
	        `

	Cash at bank

Plant

Mines

Promotion expenses

Advertising

Cartage on plant

Furniture

Administrative expenses

Repairs to plant

Coal and oil

Royalties paid

Railway track and wagons

Wages of miners

Cash

Investment- shares of tin mines

Brokerage on above

6% F.D. in syndicate bank 


	1,05,000

  40,000

2,20,000

     6,000

     5,000

     1,800

   20,900

   28,000

        900

     6,500

   10,000

   17,000

   74,220

        530

   80,000

     1,000

   89,000

7,06,350
	Share capital

Sale of silver

Interest on F.D. up to Dec. 31

Dividend on investment
	5,19,750

1,79,500

     3,900

     3,200

7,06,350


Adjustments:

(a) Depreciate plant and railways by 10%; furniture & buildings by 5%
(b) Write off one third of promotion expenses
(c) Value of silver ore on march 31, 2014 ` 15,000
(d) The directors forfeited on Dec. 20, 2013, 100 shares on which only ` 7.50 had been paid.
23. Dravid Ltd was formed with an authorized capital of `12,00,000 divided into equity shares of `10 each , to acquire the business of ‘A’ and ‘B’ whose balance sheet on the acquisition was as follows:

	Liabilities
	        `
	Assets
	          `

	Capital

General reserve

Sundry creditors
	6,00,000

4,00,000

2,00,000

12,00,000
	Freehold premises

Stock

Sundry debtors                 1,60,000

Less: prov for bad debts     10,000
Cash at bank
	7,00,000

2,00,000

1,50,000

1,50,000

12,00,000


The purchase consideration was agreed upon at ` 14,00,000 to be paid in- ` 12,00,000 fully paid equity shares at ` 11 and the balance in Cash.

Give journal entries to record the above and prepare Balance sheet of Dravid Ltd assuming the vendor’s account is finally settled.
________________
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